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— ) = HEE BE (m3/h) =

EmE—F Féiﬁ?{ 'é](ﬁ\»'\-r'ﬁ‘ijJ e TE= ﬁBE;
50 BiglE 1250£10% 145+15% 175+10% 45 13, -7

BER E H:l| 1192 139.7 171.8 4. 7
60 HgE 1250+10% 120+£15% 165+10% 44 +3, -7

4 1190 119.0 166. 0 43.5
50 HR{E 1100£10% 145+15% 100+:20% 37 +3, -7

BES E .1 1058 139. 9 98. 3 36. 9
60 MIB(E 1100£10% 120+£15% 90+20% 34 +3, -7

= 1039 118.3 91. 4 33.6
50 HIR{E 1200£10% 145+15% 165+15% 45 43, -7

i =8 1189 139.7 164. 1 44. 9
60 HAR(E 1200+ 10% 120+£15% 160+15% 44 +3, -7

=5 1184 119.1 157. 6 43. 6
50 RIRE 700+15% 145+15% 165+15% 45 13, -7

#1958 E 3] 685 139.7 164. 1 44. 9
60 RIgfE 700+15% 120+=15% 160+15% 44 +3, -7

EH:] 686 119.1 157.6 43. 6
50 RABE 48+£15% 220£10% 40+35% 45.5 +3, -7

A = 47. 6 222.3 40. 3 45. 4
60 HAR(E 53*x15% 230£10% 37+35% 46 13, -7

=4 52. 7 225. 7 36.7 45. 7
50 MRIBE 50+15% 145+15% 165+15% 45 +3, -7

= =S| 49. 5 139.7 164. 1 44. 9
60 HiglE 53+15% 120+£15% 160+£15% 44 13, -7

=i 53. 0 119.1 157.6 43. 6
50 HRIBIE 31E15% 230£10% = 44 +3, -1

s R 30. 9 228.0 = 43. 4

60 RIgfE 36+15% 230£10% - 43.5 13, -7

E=H:| 35.7 226. 6 = 43.2
50 HigE 27+15% 145+15% = 33 43, -7

s 25 =i 26. 6 140. 6 = 32:5
60 Rig{E 26+15% 120+£15% = 29 +3, -7

=il 26. 3 122.0 - 28. 6
5 RigfE 27*£15% 145+15% = 33 43, -7

> 4 BRI =B 26. 6 140. 6 - 32.5
60 RIg(E 26+15% 120+=15% = 29 +3, -7

£B 26. 3 122. 0 - 28. 6
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